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Answer the following questions.

(Q1.) Identify the real part, the imaginary part, and the conjugate of the following.
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List of Complex Numbers

Complex Numbers Real part Imaginary part | conjugate
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(Q2.) Perform the following operations of complex numbers.
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(Q3.) Solve for complex cumbers x and y. Y, X JJH saall o (1)

1. 22-1)+(3y+2)i=5-4i

(1+x)-|—(y—2)z'=
141

2.

2—1

e — 3 AdVe

WM /ax VD) «(23944+2\\ - 5 _ Y
\ 7/ N o )

22X _\=%Y 3§L2=U
9% = S-\‘-\ AW =_Y_ 9
-
QA,X: é B\A; é
X = 3 5-_2




| A
\ — _ \
\ _— )
X =33 AN -9 =1
- i 2
}C:B-\ Ee_lgz
% = 9 u = 3

(2, 3)

(Q4.) Solve for complex cumbers z. 2 S A saal J= (¢

1. (10 — 2i)z + (5 +4) = 2i

2. (3 —2i)z + (4i + 6) = 8
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